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0.50.40.30.20.10.00.1

Fiber 147, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.05.5

2 0 2

2

0

2

residuals

1.00.80.60.40.20.0

Fiber 2564, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

1.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.040.030.020.010.000.01

Fiber 1405, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

residuals

0.030.020.010.000.010.02

Fiber 4907, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.53.03.54.0

2 0 2

2

0

2

model

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

residuals

0.030.020.010.000.010.020.03

Fiber 632, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

1.751.501.251.000.750.500.250.000.25

Fiber 4919, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

1.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.020.010.000.010.020.03

Fiber 4109, dchi2frac= 1.0



2 0 2

2

0

2

data

1.4 1.6 1.8 2.0 2.2 2.4

2 0 2

2

0

2

model

1.4 1.6 1.8 2.0 2.2 2.4

2 0 2

2

0

2

residuals

0.020.010.000.010.020.030.040.050.06

Fiber 783, dchi2frac= 1.0



2 0 2

2

0

2

data

1.61.82.02.22.42.6

2 0 2

2

0

2

model

1.52.02.53.03.54.0

2 0 2

2

0

2

residuals

1.41.21.00.80.60.40.20.0

Fiber 2688, dchi2frac= 1.0



2 0 2

2

0

2

data

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

model

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

residuals

0.200.150.100.050.000.05

Fiber 2467, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

model

1.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.3 0.2 0.10.0 0.1

Fiber 4333, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

2.02.53.03.54.0

2 0 2

2

0

2

residuals

0.0 0.2 0.4 0.6 0.8

Fiber 2790, dchi2frac= 1.0



2 0 2

2

0

2

data

1.41.61.82.02.22.42.6

2 0 2

2

0

2

model

1.41.61.82.02.22.42.6

2 0 2

2

0

2

residuals

0.050.040.030.020.010.000.010.02

Fiber 4154, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.050.000.050.100.150.200.250.300.35

Fiber 4334, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.080.060.040.020.000.020.040.060.08

Fiber 4141, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

1.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.060.040.020.000.020.04

Fiber 4578, dchi2frac= 1.0



2 0 2

2

0

2

data

1.4 1.6 1.8 2.0 2.2

2 0 2

2

0

2

model

1.4 1.6 1.8 2.0 2.2

2 0 2

2

0

2

residuals

0.100.050.000.050.100.15

Fiber 911, dchi2frac= 1.0



2 0 2

2

0

2

data

1.21.41.61.82.02.22.4

2 0 2

2

0

2

model

1.21.41.61.82.02.22.42.62.8

2 0 2

2

0

2

residuals

0.250.200.150.100.050.000.050.10

Fiber 4646, dchi2frac= 1.0



2 0 2

2

0

2

data

1.001.251.501.752.002.252.502.753.00

2 0 2

2

0

2

model

1.001.251.501.752.002.252.502.75

2 0 2

2

0

2

residuals

0.060.040.020.000.020.040.06

Fiber 1202, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.060.040.020.000.020.040.060.080.10

Fiber 1033, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

2 3 4 5

2 0 2

2

0

2

residuals

0.3 0.2 0.10.0 0.1

Fiber 4869, dchi2frac= 1.0



2 0 2

2

0

2

data

1.501.752.002.252.502.753.003.25

2 0 2

2

0

2

model

1.501.752.002.252.502.753.003.25

2 0 2

2

0

2

residuals

0.3 0.2 0.10.0 0.1

Fiber 907, dchi2frac= 1.0



2 0 2

2

0

2

data

1.752.002.252.502.753.003.25

2 0 2

2

0

2

model

1.752.002.252.502.753.003.253.50

2 0 2

2

0

2

residuals

0.1750.1500.1250.1000.0750.0500.0250.000

Fiber 710, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.0 0.1 0.2 0.3 0.4 0.5

Fiber 1442, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6

2 0 2

2

0

2

model

2 3 4 5 6

2 0 2

2

0

2

residuals

0.300.250.200.150.100.050.000.050.10

Fiber 2667, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.53.03.54.04.55.05.5

2 0 2

2

0

2

model

2.02.53.03.54.04.55.05.5

2 0 2

2

0

2

residuals

0.000.020.040.060.080.10

Fiber 4148, dchi2frac= 1.0



2 0 2

2

0

2

data

1.001.251.501.752.002.252.502.753.00

2 0 2

2

0

2

model

1.001.251.501.752.002.252.502.75

2 0 2

2

0

2

residuals

0.1250.1000.0750.0500.0250.0000.0250.0500.075

Fiber 1037, dchi2frac= 1.0



2 0 2

2

0

2

data

2.0 2.5 3.0 3.5

2 0 2

2

0

2

model

2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.050.000.050.100.15

Fiber 2345, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

2 3 4 5 6

2 0 2

2

0

2

residuals

1.21.00.80.60.40.20.0

Fiber 4291, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6

2 0 2

2

0

2

model

2 3 4 5 6

2 0 2

2

0

2

residuals

0.150.100.050.000.05

Fiber 4437, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.350.300.250.200.150.100.050.00

Fiber 4627, dchi2frac= 1.0



2 0 2

2

0

2

data

1.82.02.22.42.62.83.03.2

2 0 2

2

0

2

model

1.752.002.252.502.753.003.25

2 0 2

2

0

2

residuals

0.1000.0750.0500.0250.0000.0250.0500.075

Fiber 2224, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.2 0.10.0 0.1 0.2

Fiber 1100, dchi2frac= 1.0



2 0 2

2

0

2

data

1.61.82.02.22.42.62.8

2 0 2

2

0

2

model

1.501.752.002.252.502.753.003.253.50

2 0 2

2

0

2

residuals

1.21.00.80.60.40.20.0

Fiber 960, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.53.03.54.04.55.0

2 0 2

2

0

2

model

2.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.8 0.6 0.4 0.20.0 0.2

Fiber 4061, dchi2frac= 1.0



2 0 2

2

0

2

data

1.501.752.002.252.502.753.003.25

2 0 2

2

0

2

model

1.501.752.002.252.502.753.003.25

2 0 2

2

0

2

residuals

0.4 0.3 0.2 0.10.0 0.1

Fiber 193, dchi2frac= 1.0



2 0 2

2

0

2

data

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

model

2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.100.050.000.050.100.150.20

Fiber 653, dchi2frac= 1.0


